Solve addition/subtraction problems involving up to 10 objects


	2 add 6 gives the same answer as     3 add 5
	Ella has 7 stickers.

Mia has 5 stickers.

How many less has Mia than Sophie?
	I had 10p and spent 9p on bananas. How much change did I have?
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If I eat …… sweets, I will be left with 6.
	I have 6 oranges.  If I eat 2 of them, I will have an odd number left.
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	I paid 4p for a ball and 5p for a bat. How much did I spend altogether?
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	4 pencils and 3 pencils make (
pencils altogether.
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I had 8 balloons but 7 of them burst. How many left?
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